
qm= ;+= laj/)f÷sfo{qmd ljlgof]lht /sd ?= oyfy{ cfDbfgL vr{ af+sL

1
sd{rf/L cltl/Qm ;dodf sfdsf] kfl/>lds / ufp“;ef 

k|f]T;fxg 1451000.00 1290850.00
2 kbflwsf/L ufp;ef k|f]T;fxg 294000.00 294000.00
3 cWoIf sf]if 1200000.00 50000.00
4 pkfWoIf sf]if 1000000.00 0.00

ljljw vr{ 55000.00
5 o!d'tL{ v/fn kfl/>lds-b}nft'Ë_ 42000.00
6 tf/f axfb'/ /fgf kfl/>lds-b}nft'Ë _ 78800.00

hDdf 4000000.00 1936262.00 1755650.00 180612.00

cfGtl/s cfDbfgL tkm{  ? 1936262

s|=; gfd

1 ufFpkflnsf] sfof{no

2 augf;sfnL ufFpkflnsfsf] sfof{no lrt'{3wf/f j8f=g= !

3 augf;sfnL ufFpkflnsfsf] sfof{no kf]v/fyf]s j8f=g=@

4 augf;sfnL ufFpkflnsfsf] sfof{no gfo/gdtn]; j8f=g= #

5 augf;sfnL ufFpkflnsfsf] sfof{no vfgL5fk j8f=g= $

6 augf;sfnL ufFpkflnsfsf] sfof{no bn{d8f8f j8f=g= %

7 augf;sfnL ufFpkflnsfsf] sfof{no oD3f j8f=g= ^

8 augf;sfnL ufFpkflnsfsf] sfof{no vfgLufFp j8f=g= &

9 augf;sfnL ufFpkflnsfsf] sfof{no a/fª\bL j8f=g= *

10 augf;sfnL ufFpkflnsfsf] sfof{no rfkkfgL j8f=g= (

hDdf

? 162145

? 1936622

? 167280

? 117901

? 210700

? 236837

? 126439

? 27745

? 155988

           cfGtl/s >f]t /fhZj af“*kmf“* tkm{           ? 4000000.−

1936262.00

 /sd

? 442500

? 288727

6


